The Band of Stability

Name: _______________________________________

Date: ___________
Refer to the graph below to answer the following questions. The band of stability allows us to determine which isotopes of a particular element are stable and which isotopes are unstable.
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1. If an atom has the same number of neutrons as it does protons, will it be an isotope found in nature?

2. Imagine a chemist was trying to create an atom with 60 protons and a mass number of 155. Would this be possible? 

3. If an element had 90 protons, how many neutrons would it need in order to be stable? What isotope would this be?

4. Complete the first 2 columns of the following table and then place those points on your graph. Write the element symbol next to each point.

	Unstable

Isotope
	# of

Protons
	# of

Neutrons
	Decay

Mode

	C-14
	
	
	

	Si-32
	
	
	

	Fe-52
	
	
	

	Xe-135
	
	
	

	Pb-214
	
	
	

	Rd-226
	
	
	


1. For each isotope in the table above, identify a type of decay that would allow it to move toward the band of stability, and then write a nuclear decay equation for each one.
